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T YT B & T a1 39 36 TUe0 Rt St USaid 3Tevd R o foh SHH Sig fod1 ®91, el
I eI I TS N YA MR A €l AR T 7, A 39 W wdieror yfent @ a5 o

FHUA M W T OMR 3W-UeR ¥ 3fer T W I &R 3 Uierur qiert SR A, B, C
T DH A ¥ U T fredt e o fagnfa & w@ 3R wEeg w @t Raden suifear it
B frdlt oft yar ot oo/ fagnfa ot forfa o swe-uae T o fear smom)

39 a0 giEden W E1Y | T MU e | AT
YT SThish foremT &1 wer gl W eIk %8 7 foag

0 W giegert § 100 geAer (WeA) fRu mu ) g e e iR ofush Ml ¥ B 71w
IS H UR YR (S™W) KU MY F) T W U YRR ol A o, 9 Y S-wseh W 3ifeRd el
Ted 71 A% IR TH A TR G oAk YogeR WE ®, O SH YR I SAfhd Y S 3TR! TaH
| YAk YA & foIC et Th € GoqRR A R

TR ST T Y ererm W fRu T SwR-wre W e siferd v B sw-we 1 fRu w e 3w
et geAIel & ek TuH |

T UEd foh o9 Wi gt & fafv= geil & U SW-T9a W AfRd HE YE B, AR
TAY FHO-US o W Ui SR % SER TR sw-we ° <4 €

3T o |t T I SW-T9F H T & 9% A THeT & A W had SW-TAh Teieish
Tig | YR 19 T Te0 gk o W i STEf 2

Fed wM & AU o, Teror gfesh & of ® Hord g
TAd 3T @ fag qus
[T gl W SHiearR gRT feu 7w e SRt & few que feam smom

(i) W% Yo % T 9N Sehfeus S 81 SEHIGER gR Yo% 99 & forg U 7Y Uk e Sw %
fore wea ?q fraa foe @ i &1 TH-faeE qve & &9 H e S

(i) % =+ SHER TH 9 3ffush ST a1 €, a 38 Tord ST OAE S, Tafy Ry e sw o 9
T S GE Bl ®, R ot 39 e & fory SugNER @ SH @e % us e S|

(i) A SHITIR g FE T Tt &l R S @ orefq SEiRaR g0 SW Al e S €, sS4
WA % g g gue & e s

W ¥ Gaifd e /3mata: afE o B @ § A o ISl okl Weifud S i STeedshd
T I TEHI FI SEYIRA €, A o GeHE SHRN & @ 15 3T, 2024 (WrE: 10:00 ) H
anubhav@nextias.com T - R HHhd 2l

e ek MUkl I€ UXISIUT YRaehT WieH ol 7 el WY a& deh 7 @iei|
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1.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES ORITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series A, B, C or D carefully and without any omission or discrepancy at the appropriate
places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer Sheet liable

for rejection.

You have to enter your Roll Number on the

Test Booklet in the box provided alongside.

This Test Booklet contains 100 items (Questions). Each item is printed in Hindi and English. Each item
comprises four responses (Answers). You will select the response which you want to mark on the Answer
Sheet. In case you feel that there is more than one correct response, mark the response which you consider
the best. In any case, choose only one response for each item.

You have to mark all your responses ONLY on the separate answer sheet provided. See directions in the
Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet, you
have to fill in some particulars in the Answer Sheet as per instructions sent to you with your Admission
Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the invigilator only the Answer Sheet. You are permitted to take
away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.
Penalty for wrong answers:

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN
THE OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a wrong
answer has been given by the candidate, one-third of the marks assigned to that question will be
deducted as penalty.

(i1) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the

given answers happens to be correct and there will be same penalty as above to that question.

(ii1) If question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

Challenge the question: If students feel that either the question(s)/answer(s) needs to be modified or require
clarification, they can email at anubhav@nextias.com with supporting information by 15 April, 2024
(10:00 AM).

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE ASKED TO DO SO
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frefafaa . fomm wifs:

1. 99 U9 TR hl gEad Iod S
3R FIIR F YR, HTT

2. foer iR gREe w1 faurH

3. IEMI (Orissa) T M ISR Afeen
(Odisha) Tl

ARAT Hfau™ & e8] 3 % d8d oAUl
vIfch 1 AN H HEE §N IUAE H A
feraa & fpw g ®?

(a) “hed TH

(b) Haa I

(c) @t

(d) =i &

Tqar & 9ed o, frafafed oAl ™

fo=am =ifeu:

1. 9 gfaam & d8d TSIEs &
Tt &1 Afereran e 250 fuifa
# T B

2. TS99 & 939l & fou Aféd =afw
H g 35 99 G FW G A AR

3. el ST & STER, S fRe TS
faurST B €, O 3§ 6T i ToIee wie
0 T & A STl SHEE & SR
R ot # S 2

SutE wud o 9 fhad weud Wl €72
(a) oA Th
(b) wad ]
(c) @t dH
(d) = T

FATfERar wened sttty (CAA), 2019 &

ged o, frAfafed wol w fomm Fifsu:

1. <MFIOT (Naturalization) SR R
TR I i o fog, Teede &
framg e1afy ot %2 e ¥ 12 99 °
ST 5 T e e R

2. AN HenEd sifafEm, 2019 % d&d
TRl W A & Sogeh Ah
IE Ifehsd™, AARY AT STHIIA
1 9 A B =R

3. ARl GeEE eAfufEm, 2019 & d@d
AT AOTH HI NG H ST YOI HI

(4-A)

fifer 9 ‘qgeardt AmReRdr’ (Retrospective
citizenship) U&H hl STl

Sud o ° frad sed wEl 872

(a) e ThH

(b) Had JA

(c) @t =

(d) g T

frefafaa & @ wH-w 9RdE diaem w5

TS YAl & qed fRdt T H wniHa

HE 1 FaW Heqrferd aiomH 272

(a) TF & SHSd & H e el @
TS|

(b) TIIMAA SHSIAAl & el | Hafed
AHel W HA® <1 % fau SEeE
HARHR IR h LTI

(c) HImFd I9EY (STIHfd &l d fawn)
Afafam, 1996 & WA i TS
(Applicability)!

(d) % wEiIfTa dmet & fog w5 ga
fag-dwor 5 gfg)

aRdg d@fgegm & ged o, fr=fatea weEl

R faar Hifeu:

hT-1:

e IR =N Wem it WO & fag
Houfer HeleA 3R oY Ty faumdee &
3TEHeA (Ratification) i TEwaehdl BT

hga-11:

IR HiaeM w1 eess 312 9 SifEd
ARATT FameTi & qet W ARG IR =Nt
Yol 1 off T A GEEH H 2
TTim wA % wed A, frtated § @
-9 T 2?2
(a) FUA-1 3R weA-11 9 T & qen
FHeA-11 ®UA-1 & fou gt = 2
(b) ®eF-1 3 weA-11 <HI W& & e
HeA-11 HeH-1 & forg w&t =men & 2|
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Consider the following:

1. Carving out of Union Territory of
Ladakh from the erstwhile state of
Jammu and Kashmir

2. Bifurcation of Bihar and Jharkhand

3. Changing the name of Orissa to Odisha

How many of the above were done by the
Parliament using its power under the Article
3 of the Constitution of India?

(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following statements regarding

the Rajya Sabha:

1.  Constitution of India provides for the
maximum strength of Rajya Sabha as
250.

2. A person to be qualified for the
membership of the Rajya Sabha should
not be less than 35 years.

3. According to the fourth schedule of the
constitution, when a state is bifurcated,
its Rajya Sabha seats are divided
between the new states based on their
population.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

With  reference to the Citizenship
Amendment Act (CAA) 2019, consider the
following statements:

1.  Total residency period required to get
Indian citizenship by naturalization has
been reduced from 12 years to 5 years
in certain cases.

2.  Person seeking citizenship under
CAA 2019 must have a valid passport
from either Pakistan, Bangladesh, or
Afghanistan.

3. Eligible applicants under the CAA
2019 will be granted citizenship

(5-A)

retrospectively from the date of their
entry into India.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Which of the following is the most likely

consequence of the inclusion of a state

under the Sixth schedule of the Constitution
of India?

(a) Creation of autonomous districts in the
tribal areas of the state

(b) Establishment of Tribal advisory
council to advise on the matters
pertaining to the welfare of Scheduled
tribes.

(c) Applicability of the provisions of the
Panchayats (Extension to Scheduled
Areas) Act, 1996

(d) Increased funding by the Centre for
Centrally sponsored schemes.

With reference to the Constitution of India,
consider the following statements:
Statement-I:

Creation of All India Judicial Service would
require a constitutional amendment and the
ratification of half of the state legislatures.

Statement-I1:

Constitution provides for the establishment
of All India Judicial Service on the lines of
other all India services under Article 312.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-I

www.nextias.com
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(c) -1 W&l €, Afer seF-11 Tord 2| Sudw o § frad wed wEl 872
(d) HEF-1 e 7, Wi -1 HE B (a) Had TH
e efaftE, 2023 ® §]d  H, (b) e |
Frefefa Heml R AR Hf: (©) %o Tt
@ Tf ="

1. ¥ e O afvfersd faark & Ame
H gerhil % e 9H ¥ 1 wiees
‘vg-TehaHaTST HeEAwerdl’ (Pre-litigation
mediation) kT JEHM Il 2l

2. HeTESdl ¥ SO HETRddl EWHE,
affem 3R et W SIeFhrl Bl €

ST H 9 HHE-A/8 HU T /R0
(a) Had 1

(b) o 2

(c) 1 3R 2 <Ml

(d I, 2

R dfaem & §ed o, fefataa s
R fo=m wifsa;

1. Ugufd & fatem & fau fates dea
2.  gfgum ¥ dene &t giwa

3. fgueH Hog

4. fed wRAE Fad

Swth gauntie geEEEl § @ fha g
5 <G & foF R HEER # YHid TE
GYh % % U W gl gF 27

(a) oA Th

(b) wad A

(c) Had o=

(d) =+t =R

foet 50 & T & Wed H, frmfafea

FeAl W o= wifsu:

1. TYa =4 fase & Teufd & fa=ur
?q R T Ghdl B

2. fod qd TUe 1 UR Bied & WA,
T ¥ & erafy & fau TSHifaw gAE
ded @ wfgeta feman o B

3. TOUE T & Sod AT i ferfd
# TR H TeH a9 fagas w Hel
Tl T g B

4. g TSl i At wrER! (Civil
proceedings) ¥ I Ww ¥, fhq
M HEaE! o 7=

10.

(6-A)

g § " TEEE (UT) & §’d F,

fr=fafed wal ) foar sifsu:

1. Yo §9 98 ol TgUfd gN R
W & HemH W qied R S 2

2. fouras o 99 T&E % e
&1 frfe Tfa g 7 S @)

3. wEg i fed off w9 Tsaem & feet
off forrar W fafy fmfor =6t v 9 2

Sudt W 9 fhad weH wet €72
(a) A TH
(b) Had J
(c) @t =
(d) =i &
g gieE 9 @A o efated s g
AR 3% 31 W fomm s
'Sﬁ : Taeor
1. oafashd SEHG : W TeE N

(Default bail)  ¥99 W ARY-UF
(Charge sheet) <&IX
FH B fava &
W ARG Al & T
arerd e R
2. TR P [ I = B~ A L
(Good conduct) &
fa g & ®9
o forell 2o =l yea
SAUTAY TR |
3. W : Renfn AR
ATt KRl
H W FH &
fau fedt <ot =t
sreerlt e 2
Sudtw o 9 fhad g W gufea €72
(a) o TH
(b) Had J
(c) @t =
(d) =g &l
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(c) Statement-I is correct but Statement-II
is incorrect

(d) Statement-I is incorrect but Statement-
II is correct

With reference to the Mediation Act 2023,

consider the following statements:

1. It provides for voluntary pre-litigation
mediation in matters of civil or
commercial dispute before parties
approach a court.

2.  Mediated  settlement  agreement
resulting from a mediation is final and
binding on the parties.

Which of the statements given above is/are
correct?

(a) 1only

(b) 2only

(c) Both1and?2

(d) Neither 1 nor 2

With reference to the Constitution of India,

consider the following:

1.  Electoral college for the election of
President

2. Procedure to amend the Constitution

3. Bicameral Parliament

4.  All India Services

How many of the above Constitutional
provisions indicate that the nature of Indian
federalism is tilted towards a strong Centre?
(a) Only one

(b) Only two

(c) Only three

(d) All four

With reference to the Governor of a State,

consider the following statements:

1. Governor can reserve the money bill
for the consideration of the President.

2. A former Governor is barred from
contesting in electoral politics for a
period of two years after demitting
office.

3. Governor can not give assent to the bill
endangering the position of the state
high court.

4.  Former Governors enjoy immunity
from civil proceedings, but not from
criminal proceedings.

10.

(7-A)

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) Only three

(d) All four

With reference to the Union Territory (UT)

in India, consider the following statements:

1. Every UT is administered by the
President through an administrator
appointed by him.

2. Chief Minister of UT with a Legislative
assembly is appointed by the President.

3. Parliament has the power to make law
on any subject matter of any UT.

How many of the statements given above is/
are correct?
(a) Only one

(b) Only two
(c) All three
(d) None

Consider the following pairs of terms, often
seen in the news, and their meaning:

Terms

1. Default bail

Description

Temporary release of an
accused if investigating
agency fails to file
chargesheet on time

2. Furlough Short leave granted to a
convict as an incentive
for good conduct in
prison.

3. Parole Temporary release of

a convict for attending
to familial and social
obligations.

How many of the pairs given above is/are

correct?

(a) Only one
(b) Only two
(c) All three
(d) None

www.nextias.com
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AR =9 Efedr (BNS), 2023 3R AR

MR {Ram Hfedl (BNSS), 2023 g0 &

fpu o gl = wee o, f=fafea st

T fo=m Hifse:

1. BNS@WWW(CommuniW
service)ﬁﬂ?ﬂ@@‘ﬂl@@“&q
H et T 2l

2. BNST HhdR 3R TIfSd TR H
AW % ®9 H wiga fH=n g, s ved
ARG g€ dfgar 1860 H STdfed |

3. BNSS y@uH &t € fm fed off
ST e H Hhsd &I TG
% 3Iq0q ol w1 =wwon 7 45 9 9@
sifyer faeia =&t 81 =feq

4. BNS # q@d deres aefiehr (Marital
rape) i 9 Eifea feran e )

ST ® 9 T e gl €2

(a) HId Th

(b) Haa

(c) Had o=

(d) =+t =R

qRd ¥ gdud fafed s & "ed H,
frfafad ol | foem Sifs:

wYA-1:

AfaTe IRA H1 AR W AR
o HqgH T w1 eHtd Tl Bl

heH-11:

it HagH  (Proxy voting) 1 fased

IAAE H 9Rd § had Sa/YaRd Hagraret

(Service voters) & TolT SUeted B

Suw wul & wed o, fefafea ® 9

-9 GEl B2

(a) FUA-1 3 weA-1I S T & qen
FHo-11 HUA-1 % fou @&l = 2

(b) -1 A FHEA-11 1 Fel & qen
HUA-11, HUA-1 & fau 98 =amen
T 2

(c) -1 Wl €, ifeph Hea-11 Tord 2l

(d) FA-1 Tad 7, dAfeha weE-11 T =)

13.

14.

15.

(8-A)

Teh 19 THR Higenst & fau d=mgq d@iel

T 50% TR STER i ATl A ST

=redl 21 frefafed § 9 %9 39 fwa =t

e AT @72

1. 738 Wawifie Eelem  efutEm @
Jiaa Tk faftre gEem|

2. ITUqY FEEE g foORmEr A
TIH T e ¥ fgu e o
4 Afeenet & fau dumdl § TRey
gfaera feifa fean s

3. T WHR & ‘fadere= wiwar
(Discretionary powers) @ damal H
wfgensti @1 gfaffae gH=a w5 &
THAE 3MER B

Sud o § frad e wEl 872

(a) “aA Th

(b) Had J

(c) =t

(d) =i T

frefafega el & @ SF-E/@ 9Ra o

T AAETERR 3@ (NHRC) 3R U@

Tfge A=A (NCW) &1 oifwat st dimewt

T T Tu w22

1. NHRC & folm waa ‘o’
(Recommendatory) g R War 3=
M % faw aren @

2. NCW =l =g fear & ©§ #@ma &
Se wE H AfRY (Mandate) el
BN, SEl ufd SR e

e few T e w1 T R wE S g
(a) ad 1

(b) Had 2

(c) 1 3R 2 T

(d I 1, T8 2

15 3T, 1947 & o€ 9Rd 1 fee@ a9+
et fFfafea & W fa=m sifsa:
1. Tafe=wH

2. AR
3. e, g SR e
4. TEY AR TR goA
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Consider the following statements regarding

the changes introduced by Bharatiya Nyaya

Sanhita (BNS) 2023, and Bharatiya Nagarik

Suraksha Sanhita (BNSS) 2023:

1. Community service has been added as
a new form of punishment under BNS.

2. BNS has added terrorism and organized
crime as an offence, which were earlier
absent in Indian penal code 1860.

3. BNSS provides that the promulgation
of judgment should not exceed 45 days
after the conclusion of trial in any
criminal court.

4. Marital rape has been criminalised
under the BNS.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(¢) Only three

(d) All four

With reference to the current electoral laws
in India, consider the following statements:

Statement-1:

Non-resident Indians are not allowed to
vote in General elections to Lok Sabha.

Statement-I1:

Option of proxy voting is currently available
to only service voters in India.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-1

(c) Statement-I is correct but Statement-II
is incorrect

(d) Statement-I s
Statement-II is correct

incorrect but

13.

14.

15.

(9-A)

A state government seeks to enact legislation
mandating 50% reservation of Panchayat
seats for women. Which of the following
enables this action?
1. A specific provision within the 73rd
Constitutional Amendment Act (CAA)
2. ASupreme Court judgment Vishakha v.
State of Rajasthan dictated reservation
percentages in Panchayats for women.
3. State
powers are the sole basis for ensuring

governments’  discretionary

women’s representation in Panchayats.

How many of the above statements are
correct?

(a) Only one

(b) Only two

(c¢) All three

(d) None

Which of the following statements correctly

describe the limitations on the powers

of National Human Rights Commission

(NHRC) and National Commission for

Women (NCW) in India?

1. NHRC’s
recommendatory and the Governments

decisions are only
are not bound to implement them.

2. NCW will not have mandate for
investigating a case of domestic
violence where the husband is a

government official

Select the correct answer using the code
given below:

(@) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

Consider the following territories that
became part of India after 15th August
1947:

1. Sikkim

2. Manipur

3. Goa, Daman & Diu

4.  Dadra and Nagar Haveli

www.nextias.com
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freAfafga & @ ®i9-91 9Xd & Y ST
THIRIUT 1 HEl HIAThAR HH (IRH
q) 27

(@) 3-2-4-1
b) 4-3-1-2
() 2-4-3-1
d 2-3-4-1

e @i & B (CAD) ® &#t arel <91 |

frefefaa & 9 1 e &1 game 22

1. forefl g1 "er ¥ fiveel

2. TURI WG GH & Hed H gefod
aAfegedq’ (Potential appreciation)|

3. ‘sTcusklfersh st sfqafe’ (Short&term
capital inflows) T gt ¥Rl

STtk W 9 ferad e wE ®7?
(a) “hed TH
(b) Haa =
(c) @t
(d) i T

e 3TN =F §A«U (Household

Consumption Expenditure Survey),

2022-23 & Hed #, frefafad waal ™

fo=am =ife:

1. fooo 98w & 9”9 wed iR I,
<Ml aer % sudm = | 9fg g ©,
vt o & =@ o dia afg e T 2

2. dUomE H UM SR wed, qH e o
foa wifgs fa = sudm o
(MPCE) S=aaq |

S § 9 HHE-A/8 HU G R
(a) Had 1

(b) ®ad 2

(c) 1 3R 2 <M

(d Ta1, 7T 2

ARG €99 (INR) & STRIEIRIT & HH

T, frfafed so w® foer wmifew:

1. T & AR I=a fagelt qa
HeR I T i EvIHAl hl HH
F Hehel B

19.

20.

(10 - A)

2. focsft & & INR @ @ie @i
A T W T & AR H
e el el 2

3. TW & AUSIER & U wrfad
T R FeaEl & forg fafwa
T Sifem 7 9ig 2l

ST weAl § W HHA-"/A FEl B/R?
(a) Had 1

(b) et 2 3R 3

(c) wad | 3R 2

(@ 1,2 ¥R3

fr=fafEd wa ) foar sifsu:

1. SR-HfE9 ®Ehe (DAP) 9Rd
THU Yeifess IuAm fea S dren
St 2

2. T SE-eMiEW wiewe o ‘ged
FU IMHR’ H FRO, N g AfER
TeTATYesh Taifad gl 7, ford ‘yenrer
TYTIIR T’ JE Bl T

3. RGN  EE-eMIEH  WiEhRE S
TE-SAHTIH HIEhe i o | Aok
‘@rTa g’ (Cost effective), aiferd
FU Gl 2l

Sud o ° frad wed wWEl 872
(a) o TH
(b) Had I
(c) =it I
(d) = T

Sfyeren ~JAdH &+ (Global Minimum Tax) b1

RS Fguse ol (MNCs) & sTaisa

e faofal 1 &9 gfaq &= g €2

(a) =9 UYM (Higher taxation) % HRU
Ty Sfyees few § S o gadt 2

(b) frem folg, & oW & s iR
afeies fagidl’ (Economic fundamentals)
1 R ARG & T B

(c) T7=1 2 <U =1 o9 33 & forw swufat
BN Toehraeia e H sifeen fewr &
T G 2

(d) K He@qUl 9ReRH &l erm; ‘R fammor’
(Tax considerations) ‘TSI e’
(Market potential) Tq 9@ &l &
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Which of the following is the correct

chronological order (starting with the
earliest) of their integration with India?

(@ 3-2-4-1

(b)y 4-3-1-2

(c) 2-4-3-1

(d 2-3-4-1

A country with a shrinking Current Account

Deficit is likely to experience which of the

following?

1. Adecline in foreign exchange reserves.

2. Potential appreciation of its domestic
currency.

3. Increased dependence on short-term
capital inflows.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

With  reference to the Household
Consumption Expenditure Survey 2022-23,
consider the following statements:

1.  The consumption expenditure of both
the Urban and Rural households have
risen since the last survey, with Urban
households showing a sharper growth
in spending.

2. Punjab had the highest average
Monthly Per Capita Consumption
Expenditure (MPCE) in both rural and
urban areas.

Which of the statements given above is/are
correct?

(a) 1only

(b) 2only

(c) Both 1 and2

(d) Neither 1 nor 2

With reference to Internationalisation of

Indian Rupee (INR), consider the following

statements:

1.  Rupee internationalisation can reduce
the need to maintain a high forex
reserve.

19.

20.

(1M1 -A)

2. Permitting the opening of an INR
account in overseas banks can help in
Rupee internationalisation.

3. A possible challenge of Rupee
Internationalisation  is  increased
exchange rate risk for Indian

businesses.

Which of the statements given above is/are
correct?

(a) 1only

(b) 2 and 3 only

(c) 1and2only

(d 1,2and3

Consider the following statements:

1. DAP (di-ammonium phosphate) is the
second most commonly used fertilizer
in India

2. Due to its tiny particle size, Nano
DAP is absorbed more efficiently by
plants, leading to better photosynthetic
efficiency.

3.  Conventional DAP is more cost
effective but less convenient than Nano
DAP

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

How might the introduction of the

Global Minimum Tax affect international

investment decisions by multinational

corporations?

(a) Itcouldleadto decreased overall global
investment due to higher taxation.

(b) Investment decisions might shift
towards economic fundamentals rather
than tax advantages.

(c) Companies are likely to invest more in
developing countries to exploit lower
tax rates.

(d) There will be no significant change;
tax considerations are secondary to
market potential.
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=+ ST % Wed W, fefafes § @

HHE-F/A G TR gR1 fafafad 2727

1. = faal g/ Fwehl &l T 1 =
qed G&H feran S

2. AW A, om | = fiaed 9w o
< S TRt T

F= fow T L w1 ST WG W A
(a) Had 1

(b) ®ad 2

(c) 1 32 <.l

(d Id@1, T8 2

NSSO g/ TSR W fwu Tu erafas g™

9@ gaem (PLFS) dan fUsal v=enfts

(5-atta) waeun & o= fAfatea 4 9

HIA-H & I 272

(a) PLFS fovie €9 ¥ &l S |
Sf5d 2

(b) PLFS v=enffer gdemoi & gam
sfer 98 TR & 7 (Larger
sample size) T STAN Il ]

(¢c) PLFSTR 99 ¥ gRaR 2 TH HIdT 2

(d) PLFS sifqer S&@n surd (WPR) i
TE A 2

aRd | fim steferazen &t dg gfg Sanfaa

®Y 9 7 1 SROT 99 Hehdl B

(a) ®& & ArTee Lot (Formalization
of work) & HRU FX Tod ¥ Ffg|

(b) WHR W HMEISH TN H a5 HH
B

(c) S i o9 SR ISt Tear
s |

(d) ISR Geen IR ‘uRufe e e’
(Traditional employee benefits) T A

S, W @ W die Sead-gHTST

Thed (GBI-EM) ¥ 9Rd & ¥HA 8 &

T o, frafafeg wa w® foar wifsa:

. 9Rd TR & @ Ffawa (Bond
Yield) ® =+t 89 & 30fig 2|

2. YAy 3AfEeR ‘30 gae’ (Debt flow)
Y TR & TSEd 8 I TS T

25.

26.

(12-A)

SwH o W HiA-|y/E Grfed fafeared 2/27?
(a) Had 1

(b) Had 2

(c) 1 3R 2 T

(d I 1, T8 2

“ TGl TERRI Sl AT STAIRIN T Seai@

W gUER-TE H fRAr S ?1 ¢ ergfea”

W W e oF w = A e €2

1. g & o ‘OSht wafwar e
(Capital Adequacy Ratio) E|
STEvIeRal’ %A el 8

2. orggfad 9% WY 9rdg fod §F a5
T gfaen 9 o9 W\ R G 2

3. eAggfed Eeofcal T 01 (Bad loan)
?q ‘Wifasn ®Meel’ (Provisioning
norms) ® ¢ fierdt B

ST § @ frdd Fod w9t 22

(a) FaA Th

(b) HaaA Jq

(c) 9+t @

(d) i T

ARd ! U e HIfd (National Logistics

Policy — NLP) & dH #, frfafaa werf

R fo=mr wifsu:

SIA-1:

T W Aifa &1 @89 9Ra ® @R

ATTd &1 ¥hel BRT ICUR % 13% qh
FY FHET R

SUI-11:

A 1 TAE 2030 T THE YEIH YA

o 3 25 <u H wifHer N @ B

ST wudl & Heay H freAfafed § @

HIA-91 FET B2

(a) HeA-1 3R weF-11 oA |& & 3R
FHoFA-11 FUA-1 & fau w&l = 2|

(b) HeA-1 R FHeA-11 o F& & 3R
w11, HeA-1 & fau =& =men
T 2
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In the context of the sugar industry, which

of the following are regulated by the

Government of India?

1.  Minimum price that sugar mills have to
pay to farmers for sugarcane.

2. Minimum price at which sugar mills
can sell sugar to the market

Select the correct answer using the codes
given below:

(a) 1only

(b) 2only

(c) Both1and2

(¢) Neither 1 nor 2

Which of the following is a key difference

between the Periodic Labour Force Survey

(PLFS) and the previous quinquennial (5-

year) surveys on employment conducted by

the NSSO?

(@) The PLFS focuses exclusively on
urban unemployment.

(b) The PLFS uses a larger sample size
than the quinquennial surveys.

(c) ThePLFS collects data more frequently
throughout the year.

(d) The PLFS does not measure the Worker
Population Ratio (WPR).

The rapid growth of the gig economy in

India can potentially lead to:

(a) Increased tax revenue due to
formalization of work.

(b) Reduced social security burden on the
government.

(c) Enhanced worker benefits and social
security coverage.

(d) Adecline in job security and traditional
employee benefits.

With reference to India’s Inclusion in

JP Morgan’s Government Bond Index-

Emerging Markets, consider the following

statements:

. Indian Government bond yield is
expected to go down.

2.  Anticipated larger debt inflows are
likely to strengthen the Rupee.

25.

26.

(13 - A)

Which of the
implications?

(a) 1 only

(b) 2 only

(c) Both1and?2
(d) Neither 1 nor 2

above is/are likely

The concept of “Scheduled Cooperative

Banks” is often mentioned in news. What

are advantages a cooperative bank gains by

being “Scheduled”?

1. Scheduled banks have a lower capital
adequacy ratio requirement.

2. Scheduled banks can directly access
funds from the RBI’s repo window.

3. Scheduled banks enjoy a relaxation in
provisioning norms for bad loans.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

With reference to India’s National Logistics
Policy (NLP),
statements:

consider the following

Statement-1:

NLP aims to bring down logistics costs in
India to 13 % of Gross Domestic Product.

Statement-11:

India endeavors to be among the top
25 countries by 2030 in the Logistics
Performance Index.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-I
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(c) -1 W&l €, oifer seF-11 Terd B (b) A FA@ & T gEd AR
(d) h¥F-1 TTeid ?, wfeh HeF-11 T 2| HEAW|
27. A Hm wW weyEaw (IMF (c) TRY eIk % HWEAH H AEHIT & H
Quotas) T WfHs 32T B s ghfeea w31 & fag sl Sl
|, G 39 # A wRE (Voting o 92 THH R ‘SEiHd o STER G
power) =@ & T
2. IMF 3R ®W ¥ & fere e weee (d) o, TE-@E SR T
(Eligibility criteria) Freifa e frmeedt w2 wrifrs TR % w5
3. ‘faftma < feeRd@l’ (Exchange rate SRET =
stability) ! FIgm@an 31| 31. 3S&d U9 A (LRS) & W’ H,
Sudte o 9 fhad sheM wEt €72 ﬁmﬁﬁ@aﬁﬁaﬁq—mma@m
(a) ST T (Outward remittance) & fo@ w:@ 22
© @t @ (b) o o faferem SR & fau A
@ wE (c) W%Wwﬁ@@aﬁm|
28, SR T G@ T A v e (@) T Tl
WHTH"  (Asian Premium) & GdY ¥,
frfafea wo W foem Fifsa: 32. TrAfefaa ww fre fagio wom o1 sfiwa
1. =% T <I w6 emufd fey S e mifger aga (feill dfewam) e sfied
Fed dd W, AUHk TGN YSH h Tt (fadft) gwifan 2:
S arelt T i 2 (Additional
discount) 2l "o 30
2. ufernd fiftem § w9 9wd w1 o | //—\\ ME
= <3 H gfg @ gkl 2 A / e
STl ¥ @ womA w w28 | B E
(a) Had 1 B E
(b) e 2 o .
(c) 1 AR 2 <A 00 00
(d) q a}[ 1) q g:l‘ 2 Jan  Feb Ma;g&wh?%lge E]%Tq/-\:ll.:lg:[’Sept Oct Nov Dec
29. dug @Y (PM SVANidhi) feas g/ ITF TF G994 fava & Frefated § 9
& F T TF TEd 7 e SoTem] &% 1 wfafTEE w82
(a) IOl foeRmd 3o (a) =M oI @y
(b) o Hame™ (b) HEM SrETg
(c) U= Te &M HoATerd (c) JUEHENHR Serarg
(d) oTemEd TE el wrE HAeE (d) fafew g Seerg
30. ffafed § 9 #F-W 5@ Stem fve #1 | 33, emafes waed (Arctic amplification) ¥

© Copyright: AEXT IAS

‘feparer T’ 1 §HE T el 87

(a) Frlewa FgM R gifad w0 & fag
HIS[E STt Sgfd A i g et
HE

(14 - A)

A YUlell & ik WehRIcHe  Afafshen
U & U@ FE H amar 21 FreAfated
o 9 wA-m G giagie o &1 giattere

HA B2
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(c) Statement-I is correct but Statement-II
is incorrect

(d) Statement-I is incorrect but Statement-
II is correct

The primary purpose of International

Monetary Fund (IMF) Quotas is to:

1. Determine member countries’ voting
power.

2. Set eligibility criteria for IMF lending.

3. Promote exchange rate stability.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

With regard to the term “Asian Premium”
often seen in news, consider the following
statements:

1. It is an extra discount provided by
OPEC countries on crude oil supplied
to Asian countries.

2. Reduction in Asian premium may lead
to increase in India's domestic interest
rates.

Which of the statements given above is/are
correct?

(a) 1only

(b) 2only

(c) Both1and?2

(d) Neither 1 nor 2

PM SVANIidhi is an initiative launched by
the:

(a) Ministry of Rural Development

(b) Ministry of Finance

(c) Ministry of Commerce and Industry
(d) Ministry of Housing and Urban Affairs

Which of the following is not a key

component of the Jal Jeevan Mission’s

implementation strategy?

(a) Retrofitting existing water
schemes

supply
to augment and ensure
functionality.

31.

32.

Precipitation, mm.
) ) B w =) -~ o
o o S o S o S
=] (=1 =] (=} =] (=} =]

=
=3

o
=)

33.

(15 - A)

(b) Groundwater recharge structures near
drinking water sources.

(c) Large-scale centralized water treatment
plants in urban centers to supply rural
areas through piped networks.

(d) Training community-level personnel
on operation, maintenance, and water
quality monitoring.

In the context of the Liberalised remittance

scheme, which of the following is not

a permissible purpose for outward

remittance?

(a) Investment in foreign stocks and
mutual funds.

(b) Payment for medical treatment abroad.

(c) Donations to charitable organizations
outside India.

(d) Trading in foreign exchange abroad.

The
average monthly temperature (°C) and mean

following graph depicts the mean

average precipitation (mm) of a particular
place:

emperature, deg. C

Jan Feb Mar Apr May June July Aug Sept Oct Nov Dec
mm Precipitation, in. = Temperature, deg. C
The above graph is most likely representing
which of the following climatic zones of the
world?
(a) China type climate
(b) Savanna climate
(c) Mediterranean Climate
(d) British type climate

Arctic amplification has the potential to
trigger positive feedback loops within the
climate system. Which of the following
represents such a feedback mechanism?
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(a g H U w SOREwa H FfE,
FHTET EEEETU T (Carbon
sequestration) H Jfg|

(b) oMwfesw omfien ® gfg & FWW
aca w1 fafor sifees gen, fewd
IHESEE S IfAEROT (Atmospheric
heat retention) ¥ Jf5 T

(c) Tl 9% % fyeer o R, Uey wiash
(Phytoplankton) ! " | gfg @il
2, S aveda wEA SRS
STaeifod # &

(d) f&m 3R 9% *1 ST FH TH W e
& W 1 e B SN G SrEsiv §
gfg B

frfafed wo w® faar wifsa:

SA-1:

IfYgHt T ® g H ARG % gl de W
<l w1 SeaTed 3Tfush il 2l

s eH-11:

e e e i e e 9 geE

o srfueh foeqa € < @t & feorw sifuss o

TH W T

SEE wUdl & Haw H frafated o @

HF-91 TE 7

(a) HUA-1 3R HeA-11 aH F& & 3R
FoA-11 FoH-1 % fau T& =ren ¢

(b) FoH-1 3R FeA-1 < & 7 @R
FUA-1I, weA-1 & fau @&l =ren
T 7

(c) wHeA-1 HE T WfehT HoF-11 Tord €

(d) FF-1 ToHd 7 A weF-11 TEl €

HAl WX UE CaAfgdta wiifeerfas @
(Unique Ecosystem) &, S &g gaferoft
<Hifqal 1 e FR @ 71 OTRl e St
(Deep water) § = sifedsm &R & fau
frfafes & @ fras Sco@™ arEH gH
1 e e FH 272
(a) STH-U &I ARA ¥ TS q i b
vare ¥ gfg @ ‘S 7R’ (Algae
bloom) &I Fgran faer

36

37.

(16 - A)

(b) TUX & WAE & qAu9H H gfg @
* SRt ht Ferefterar’ (Dissolublility
of oxygen) ® I BHII

(c) IERIE SergaEHe SiH difaeh srensif
TR YHEY WFR & WY el A
HARF-9EH I Ffasferd el

(d) Tl WFR @ e creurar arell et
WA 3R FH AU STl FaE WA B
o= 3fea fasor =7 31 9

HMMIG: SMd w1 @E & gad § oRd

WRR & FehaTdl i HHSIX drerdl 1 Tefies

SRl Frefefaa o 9 -1 22

(a) 3@ WRR § 9 A & e Fhdld
TS 1 aed i g

(b) 3R |FR I FEOMe hIRSATH TS
kel U el ST e 2

(c) Y@ I ¥ Heahed & HRU 31E
YR § IF g4l HT A9 2 2

(d) 3R”a 9rR i fewd sgudRfafa (s«
& TeE) (Bathymetry) 36T Sl i
STl i Hifd el 2l

ward (Levant) &3 & §ed # f=fafad

Fodl W faar wifs:

1. e Ufaeifdes &9 9 Yol HeT 9
% T 9 &7 I Garda wear 2, o
i, oeH, SoREe, Sied 3R gt
% Hp e S8 adqE <9 e 2

2. 1916 & WEHE-fude 99gid 4 odid
<ol T TR Himet wi SRR A H
wewqul i HwE)

3. A U THEA ot Aifq 2, S
T N & T Yok AR SN 97 i
STETSTE] 1 Gien Y it 2|

ST 9 fhad wud w282
(a) oA TH

(b) Had J

(c) @t I

(d) = & T
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(a) Increased plant productivity in the
tundra, enhancing carbon sequestration
(b) Increased Arctic
leading to more cloud formation,

evaporation

thereby increasing atmospheric heat
retention
(c) Sea ice loss promoting phytoplankton
blooms,
CO,
(d) Reduced snow and ice cover leading

absorbing  atmospheric

to a darker surface and increased solar
absorption

Consider the following statements:
Statement-1 :

Production of rice is more on the eastern
coast of India than western coast.

Statement-II :

Eastern coastal plains are broader than the
western coastal plains providing more land
for cultivation.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-
Il are correct and Statement-II is
not the
Statement-1

correct explanation for

(c) Statement-I is correct but Statement-II
is incorrect

(d) Statement-I is incorrect but Statement-
IT is correct

The Black Sea is a unique ecosystem facing
several environmental challenges. Which
of the following is the least likely to be a
significant contributor to low oxygen levels
in the deep waters?

(a) Increased nutrient runoff from
surrounding rivers, promoting algal

blooms.

36.

37.

(17 - A)

(b) Warming sea surface temperatures

leading to reduced solubility of
oxygen.

(c) Physical barriers like the Bosphorus
Strait restricting deep water exchange
with the Mediterranean.

(d) Poor mixing between the salty bottom
layer and a less salty surface layer of

Black sea.

Which of the following is a primary reason

for the generally weaker intensity of

Arabian Sea cyclones compared to those in

the Bay of Bengal?

(a) Higher wind shear in the Arabian Sea
disrupts cyclone organization.

(b) The Arabian Sea’s clockwise Coriolis
effect inhibits cyclonic rotation.

(c) Proximity to major deserts leads to
intrusion of dry air in the Arabian Sea.

(d) Shallow bathymetry of the Arabian Sea
limits heat energy available.

Consider the following statements about

the Levant region:

1. Levant historically refers to a large
area in the Eastern Mediterranean,
encompassing present-day countries
such as Syria, Lebanon, Israel, Jordan,
and parts of Turkey.

2. Sykes-Picot Agreement of 1916 played
a significant role in shaping the modern
borders of the Levant countries.

3.  Levant has a unified economic policy
that facilitates free trade and movement

of labor among its countries.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None
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frfafed wa | faar sifsa:

EZERI K

fyem ® AR wEA Al gEgdE AT,

HG: Sodl % a9 SaRAsq@ (Estuary)

&1 frmfor st €

wgA-1I:

‘g wfeAi’ (Rift valleys) ¥ @@s @Telt

yagda Afear dig e w @er @gs o

fagfsfa gidt €

S e vl H, frefanad 8

HIT-| T 2

(a) HEE-1 3R HweA-11 I T €
FUA-11 woH-1 & forg T&l =amen 2

(b) -1 S weA-11 I W& €
FeA-11 w1 & forg @&t = e 2

(c) -1 el €, Afer HeF-11 Tord 2|

(d) HEF-1 e ®, Wi -1 HE 7

TR ATy WEy & FROT, fREH Fi IRufen

HOA 39 A T ® T ?1 iy H:

1. 9o ‘= gfaemor’ (Moisture retention)
Al Ted R ‘geveted g1’ (Well-
drained soils)

2. Hyul o g R YR YRl

3. Bl 3R g5 iiderre qe e 3R 3
eehTel

IehoM B fefafad 4 @ &H-d w9d
Tad Iugh foehed Bhft?

(a) HIH

(b) HIH!

(c) 3R

(d) w=

Ak Hew & ofeldl, aeed WaeH

S 1 HTferd erfeler W< ot 7| f=ferfad

¥ 4 frq goeq &1 39 &89 ° 9fha ®9 9

T T s 272

(a) e

(b) EF

(c) wife™

(d @

gata guarHedd 99 (PSCs) & day o,

freafafaad oAl w famm wifsa:

1. Y& wraMHedE WE, gHdaEed |
TN 15 § 25 fhamieX & gmar |

42,

43.

(18 - A)

yara e o gemd: afdal & meA &
A fafifa B 2

2. yd@ OHaMHedta Wy faafor &t
YaepTel oTafy & 9ver ga agd
(Polar spring) & Lkl g & &
TR S &0 et 1R g 2

3. yd@  wEAMHedE Y w-wed
Tefer/gen wel (Twilight) & SRE
9-TId ¥ qEOEH B T, W SHeiel/
Ssoad W1 TR w T

ST 9 fhaa wud w282

(a) “hed TH

(b) e

(c) @t =

(d) i T

Ta1 yonfeal grn ffHa s-smefaal & wsd

4 frafafed wua w® foar sifsa:

1. TR Sfd (Oxbow lake) @1 fmioT aa
T T, v T H A a0 ¥ TH
foega fawd g g Sfial &1 &9 o
o 2

2. W@@ Y@ (Alluvial fans) SHMIG:
T ST & I=d oA ot & H
faffa eid €, el afal o e ot
el o ferete THad HeHl 1 SR
Yefed Bl 2|

3. " (Levees) Tehideh S EIR
(Embankments) &1 T& Bid g, s el
FI TR & WA oA H A &7 o
Jafed 8F ¥ Uk & faq 781 & fhR
= fafdq e 2

ST 9 fhad wud w222
(a) “hed TH
(b) e
(c) @t I
(d) = T

fr=fafEad wa ) foar sifsu:

1. € H IR falet sTde™ Hed
(ISRO) BN T AT geal Jureit
Higd (Earth System Model- ESM) @i
TRyt ®q @ foerfad feran = 21

2. UE ARA o1 Ugen Y fawen wed 7
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Consider the following statements:
Statement I:

West-flowing peninsular rivers generally
form estuaries rather than deltas.

Statement I1I:

Peninsular rivers flowing through rift
valleys have a steep descent into the sea.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-1

(c) Statement-I is correct but Statement-II
is incorrect

(d) Statement-I is incorrect  but
Statement-II is correct

Due to changing climatic patterns, a

farmer’s traditional crop is no longer viable.

The land has:

1. Deep, well-drained soils with good
moisture retention

2. Abundant sunshine throughout the
year.

3.  Short, mild winters and long, hot
summers

To adapt, which of the following crops
would be most appropriate alternative?
(a) Saffron

(b) Coffee
(c) Grapes
(d) Apples
Besides geological significance, the

Barberton Greenstone Belt has potential
economic importance. Which of the
following resources is actively mined in the
region?

(a) Copper

(b) Gold

(c) Platinum

(d) Diamonds

Consider the following statements about

Polar Stratospheric Clouds (PSCs):

1. PSCsformataltitudes of approximately
15 to 25 kilometers in the stratosphere,

42,

43.

(19 - A)

primarily during the winter months in
polar regions.

2. Ozone depletion above the polar
regions is most severe during the polar
spring, following the winter period of
PSC formation.

3. PSCs are sometimes visible from the
ground during twilight, displaying

vivid colours.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c¢) All three

(d) None

Consider the following statements about

landforms created by river systems:

1. Oxbow lakes are formed when a wide
meander from the main stem of a river
is cut off to create a lake.

2. Alluvial fans are typically formed in
the high gradient regions of mountain
fronts where rivers emerge from steep
valleys onto flat plains.

3. Levees are natural embankments built
along the sides of a river channel
during flood events to prevent water
from spilling over into the floodplain.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following statements:

1. A state-of-the-art Earth System Model
(ESM) has been recently developed at
ISRO.

2. This is the first Earth System Model

from India.
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3. ESM R foht T Sierery e Jedich
T ITART, SeTarg qRE W ST
T (IPCC) §W TR -&Had =t
oo Raié o feran T e

Sudth W 9 forad e wEl /27

(a) A Th

(b) Haa I

(c) 9t T

(d) *E T

FHeqeh &1 9 A9 o T T q F 5
% e SaremgEt favwe 9 3faor =i 9mR
H w U g9 1 fmin gen 21 fefafea
¥ ¥ FF-W Hed 39 ufadT ® ufdfefad
wH & fau fava amfasi & feraeo §
g Afee gogel ®9 9 wiHA BI?

(a) fava dw fagm €T (WMO)

(b) AL o1 TAI0T G

(c) IIEh! fova eREX &%

(d) HIH T AT ST

g1 w1 G-I ¥ gafad wife e

gfeai & = fgu 7w el @ w9 3w gi:
qeit-1 Tit-11
(o) (wem feom)
(a) =9 folt =71 1. few wige, 9ma
3R gemfem
(b) + feilt ==a@ 2. g&A @i
gEE R
faftra g
(c) =% felt =7 3. fafeia g
IR Hrerda
(d) o1e feilt 9 4. sfeum SR
[REACIEE RS
hd:
A B C D
(a) 2 4 3 1
b 4 2 1 3
(c) 4 1 3 2
@ 2 3 1 4

46.

47.

48.

(20 - A)

frefafed & & -9, 371 bl 1 qer

T THAREAY Il (mRNA Vaccines) ED

A 1 T U HI 2?2

1. U7 IYJ ¢ afiue & fau = e
Y srifad (s792e) foFan S Gehal 2

2. mRNA & & ITOET g T W
sifaer derar 9 R S gehdr 8, T
3% HIRER Fagq (Cell culture) T
ATl &l Bl B

3. 3 de ¥ Shfea faumg W@ @ g,
oo J& ¥ gH aret T H T wH
Bl W 2

e feu Y el w1 wE R wE S g
(a) Had 1

(b) e 1 3R 2

(c) e 2 3R 3

(d 1,2 33

fiheig d S TeTH AT SUSIO hE

w1 %Y IO &7

(a) T JaIE ¥ Fafgd @ & audE o
IAR-TEE ! AT

(b) = & A T HI HE H IRAH H
Tl T o T yepmiia Hoss (Optical
Sensors) % W & W

(c) T&F ® gSHAl (Heartbeats) & o9 &
dHY \:H’d{l(ﬁ ﬁ HIh |

(d) Has® & WEAH ¥ g1d & faga e
T Idl TR

B & °, CERN 7 R HHoR hiaEel

(Future Circular Collider) %1 J&are e 2,

St g * g 98 FU Pl b wY

o el 8 wieged (LHC) &1 wfacenfua

Fan| Frefafad § 9 SiH-91 %0 FHiaget

% I2YT F1 FATGH U HT 27

(a) S=d TEEmRYU  gRfeafaal @ ded
Hifels &0l (Fundamental particles) &
HITR 1 I HTA

(b) e & ‘A 1 f&&= " (Lesser known
parts) Tl THSH & AT TEEmRyo qOm
&1 foeersor e

(c) oaf¥ra woll &t fd S Wb &I WA
% e a% Fem

(d) TER-=Tdd Fshdl (Space-time curvature)
% fagidl w Tecmmyn oifET & e
1 TET0T HTT
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3. Climate change assessment carried out
using ESM, was used in the latest Sixth
Assessment Report prepared by the
Intergovernmental Panel on Climate
Change (IPCC)

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Assume hypothetically that a recent
underwater volcanic eruptions lead to the
formation of a new island in South China
sea. Which of the following organizations
would be MOST directly involved in
updating world maps to reflect this change?
(a) World Meteorological Organization
(b) International Hydrographic Organization
(c) UNESCO World Heritage Centre

(d) United Nations Cartographic Section

Match List I with List II and select the
correct answer from the codes given below
the lists:

List 1 List 2

(Channel) (Present between)

A. Ten Degree 1. Indira Point, India
Channel and Indonesia

B. Nine Degree 2. Main Lakshadweep

Channel archipelago and
Minicoy Island
C Six Degree 3. Minicoy islands
Channel and Maldives
D. Eight Degree =~ 4. Andaman and
Channel Nicobar Islands
Code:
A B C D
(a 2 4 3 1
(b) 4 2 1 3
(c) 4 1 3 2
(d 2 3 1 4

46.

47.

48.

(21 -A)

Which of the following accurately describes
the advantage of mRNA vaccines over other
vaccines?

1. They can be quickly updated for
emerging variants of disease.

2. Producing mRNA vaccines at large
scale is faster as they don’t require cell
culture.

3. These vaccines do not contain a live
virus, reducing the risk of vaccine-
induced disease.

Select the correct answer using the code
given below:

(a) 1 only

(b) 1 and2 only

(c) 2and3 only

(d 1,2and3

How do wearable devices like fitness bands
measure blood pressure?
skin

(a) By measuring temperature

fluctuations correlated with blood
flow.

(b) Using optical sensors to detect blood
volume changes under the skin.

(c) By measuring the difference in time
between heartbeats.

(d) By detecting electrical impulses of the

heart through sensors

Recently, CERN has proposed the Future

Circular Collider that will replace the Large

Hadron Collider as the world’s largest

particle collider. Which of the following

best describes the purpose of particle

colliders?

(a) Studying the behavior of fundamental
particles under high gravity conditions

(b) Analyzing gravitational waves to
understand lesser-known parts of the
universe

(c) Speeding up charged particles close to
the speed of light

(d) Testing theories of space-time
curvature and effects of gravitational
lensing
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A & A gidal § W ug "Cry2Ai",

frfafeaa o 9 frag gafua 22

(a) Tk HeerR, S foreienidl SRl i
K w2 faeiea 2

(b) I IV fem & fau @@ g
[ECAERRCRIES IREIEIRIEIECEE BT

(c) Uk S, S U hi T[errel/ e drerad
U1 % ufa gfaeh a2

(d) FHE wH=E  gEE (Artificial
general intelligence) W 3THMRA Teh
fohemftheh dehih|

frefafed & 9 e aREeysEdsT 3 g

A TRy G S qal o H AR

% foomar der-da e e (Giant

Metrewave Radio Telescope) h! Hag ol 22

(a) YR 9 Mo act dahal § 9HF
forerer

(b) iR HEhEd T4 (dwuse) |
e

(c) FAX ki T (Brightness of quasars)
o fa=an

(d) TN STHREMST & Sifaed  fawermd
(Efrde) g/ fSeh-=h1a1 (Spacetime)
% foeaR &1 gR

frafafea oAt w fa=mr Sifsa:
-1

foumeta SHaor % SR § ufdelfas
(Antibiotics) 9« B4 2

he-11:

faurogel @t wifyERr  fufaal Sgers

YeHaqsti (Microfibrils) ® it g, S

3= yiosifas <ol & wfa gfay yeH

Fad B

STE weAl & ey § FeAfafed # 9

HHE-T1 T 7?2

(a) HUA-1 3N HeA-11 A W B @R
FUA-11 woF-1 & foag Tel =amen 2

(b) weA-1 &R HeA-1I <1 Tt & 3
wHA-11, FoA-1 & foau & =men
& 2

(c) FeF-1 T 2, Al HeA-11 Terd 2l

(d) FeF-1 Tod 7, ofh HeH-11 T 2l

52.

53.

54.

(22 -A)

3 T weifien (eSIM Technology) & ®gd

T, frfafed so w® foer wifaw:

1. T H¥ HeEd e W E sne
(THIFA) B 2

2. 98 JT: Y A (Re-programmable)
?, S SyanTRdiet w faw we S€d
o Jeash AR /e & gaen
TS H T

3. T8 dftes wAfRfad w1 e[ 8T
SYHIUN HI THAT HE Aedsh o g
1 gl 9gE Hl 2

ST § @ forad wee wet 2/
(a) o TH
(b) I A
(c) =t =
(d) =g &l

TWRH (Aspartame) &1 B@ & H fava
WA e N HWEd:  “hEan”
(Carcinogenic) =ity feam e em
frfafaa & 9 fored 9o =us €9 9
ERINRCRIRS G

(a) @I uf@&eh (Food preservative)

(b) <HfH HYER (Artificial sweetener)

(c) T S AT (Food coloring additive)
(d) vHfas gefaw o gfg w aren uqred

(Natural flavour enhancer)

aRdE AaRe Aifd, 2023 & €W H,

frfafaa worl w foemr wifsu:

1. frot geemstf @ oaRe e A
‘Fqui Tfafafeai’ (End-to-end activities)
HAIeAd S i STIANT UM 1 ST

2. =X, SAaRe yonfaai & uf=mem deet
fafmior sl 9 @ &l AT H A

3. IN-SPACe 3faftg wamu =& fau
‘Thal gl H9' (Single window
clearance) 3R ‘wifgeRtor  wSEl’
(Authorisation agency) & ®4 H &[
Eaull

ST 9 fhan wed w@l 2872
(a) o TH
(b) Had
(c) @t =
(d) = &l
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The term “Cry2Ai”, recently seen in the

news, is related to which of the following?

(a) A malware focused on the theft of
cryptocurrency information.

(b) Cryogenic engine being developed
by ISRO for the Chandrayaan IV
mission

(c) A gene that makes cotton resistant to
pink bollworm

(d) A cryptographic technique based on
Artificial general intelligence.

Which of the following observations helped
India’s Giant Metrewave Radio Telescope
in detecting the
recently?

gravitational waves
(a) Time aberrations in signals emerging
from pulsars
(b) Changes in
background
(c) Variations in the brightness of quasars
(d) Redshift of distant galaxies revealing

cosmic microwave

the expansion of spacetime fabric
Consider the following statements:
Statement-1I:

Antibiotics are ineffective in
infections caused by viruses.

treating

Statement-I1:

Viruses have cell walls composed of

cellulose microfibrils, providing them

resistance to antibiotics.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-I

(c) Statement-I is correct but Statement-II
is incorrect

(d) Statement-I is
Statement-II is correct

incorrect but

52.

53.

54.

(23 - A)

With reference to eSIM

consider the following statements:

technology,

1. It is embedded directly into a mobile’s
hardware.

2. Itisre - programmable allowing users
to switch network operators without
replacing SIM cards.

3. Itallows devices to connect to multiple
networks simultaneously, enhancing

global connectivity.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(¢) All three

(d) None

Aspartame was recently declared “possibly
World Health

Organisation. It is widely used as a type of:

carcinogenic” by the

(a) Food Preservative
(b) Artificial sweetener
(c) Food coloring additive

(d) Natural flavour enhancer

With reference to Indian Space Policy

2023, consider the following statements:

1. Non-Governmental Entities will be
allowed to wundertake end-to-end
activities in the space sector.

2. ISRO will transition out from the
manufacturing of operational space
systems.

3. IN-SPACe will act as a single window
clearance and authorisation agency for
space launches

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None
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O & YA TRIT BRE siel Rug &
Ted ¥, freafafed o W fa=m wifs:
hT-1 ¢

I TY9 WA Rl S HHIT (Fertile

material)  TREfdd ® START ¥ 3ifeeh
TR S8 SU= FT ThA

S eA-11 :

oM PR & TN AR afiFH-233 SR

(Thorium - 233 blanket) wfehta faged

Y TA & 9¥E WRIaH-239 W IR

FHTI

Twim werl & Hes § frefara 6 B

-9 TE B2

(a) HEE-1 3R HeE-11 S T € A
FUA-11, HeF-1 1 FEl AEA 2l

(b) HUA-1 3R weM-1I <9 T & qen
FUA-11, HeH-1 HT & = T 2

(c) w¥-1 @&l 2, forg weA-1I Tord B

(d) HeHA-1 T 7, g wem-11 9t B

T Fiend e (NQM) &1 @& fafa=

&5 o reifien! shifd o 81 SHeh e

goral W faEr wife:

1. Sfead waer-gaaE & fag s9fen
vt o 3Hfd

2. ’1—@3}[’ (Ground stations) & A SYUE
G gUfar seied |49r

3. i gEiE @ fesied iR wyewm

SE® § ¥ fhad &AM NQM & Heqfed
gl il e €72

(a) el Th

(b) Haa I

(c) gt T

(d) =g &l

yA: gieal § WA AN &en-eeR I,

frefafaa o @ fhas SR g 22

(a) T=X & Hled G JHIRG e el oy
(Virus) & &I

(b) e W % HWeEw Y qEiid eF o
WSl (Parasite) s RO

58.

59.

(24 -A)

(c) ‘3ftm i@ g’ ¥ 9w S e Star)
(Bacteria) % |

(d) THHd T & TUS ¥ TH 96l Ak
(Fungal) ShHTT & HRUT|

wHeU GR Ul % Hed o, frefafea

oAl R fo=m Hife:

1. 3@ & v & faga o 9Rafda
FE % foIu ‘gR) 9 (Solar thermal)
deheh’ 1 ITANT L B

2. UG % SIS SRe] SURON ¥ UR
YTl | o= fogd 1 STAN T &
fam ¥ fepan < wha ©

3. 9Rd W ®HAT YR Yol 1 3tfershan
T &mar TR R

S 4 9 ford wum g 27872
(a) A Th
(b) Had JA
(c) =t =
(d) =g &l

it WU IR & I 9 o sl &

Hed #, fefafad sweml W fo=m sifa:

1. HERR %o | 7o WU =R RN &5
fafor SLamn T e

2. TRON H TMEAdl &% WY IR T’ IS
#I Sfeat €, S s Sad & 3w )
wefefa @t )

3. 90 ‘usfEen g’ &t Sufkefd, 39 T
FT T SIS faw

4. 30 WA 9 w94 AR wfeEl 9 ol w
Afee 1 epld W g8 B, 4 %
SfaeTEe™l gR1 e TStasd! i Hid
T & T R

Sudw o § forad whed wEl 872
(a) o TH
(b) Had JA
(c) Had dH
(d) =t =R
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With reference to the India’s first indigenous
Fast Breeder Reactor, consider the following
statements :

Statement-I :

It can generate more nuclear fuel than it
consumes by converting fertile material
into fissile.

Statement-II :

Thorium - 233 blanket surrounding the fuel
core will produce Plutonium - 239 after
undergoing nuclear fission.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-I

(c) Statement-I is correct but Statement-II
is incorrect

(d) Statement-I is incorrect but Statement-
IT is correct

With the National Quantum Mission (NQM)

aiming to revolutionize technology across

various sectors, consider the following

impacts:

1.  Advancement in computing power for
complex problem-solving

2. Satellite-based  secure  quantum
communications  between  ground
stations

3. Design and synthesis of quantum
materials

How many of the above reflect the potential
impacts of NQM?

(a) Only one

(b) Only two

(c) All three

(d) None

Kala - Azar disease, often seen in the news,

is caused by:

(a) Virus transmitted through mosquito
bites.

(b) Parasite transmitted through sandflies.

S8.

59.

(25 - A)

(c) Bacteria found in contaminated water
sources.

(d) Fungal
contact with infected soil.

infection acquired through

With reference to the rooftop solar panels,

consider the following statements:

1.  They use solar thermal technology to
convert sunlight into electricity.

2. Electricity generated from solar panels
can not be used without inverter in
most home appliances of India.

3.  Gujarat has the maximum installed
capacity for the rooftop solar system in
India.

How many of the statements given above is/
are correct?
(a) Only one

(b) Only two
(c) All three
(d) None

With reference to the findings at Sanchi
stupa complex, consider the following
statements:

1. Four Toranas were added to Great
stupa in the post-Mauryan period.

2.  Toranas have intricately carved images
of Buddha depicting scenes from his
life.

3. Presence of upper pradakshina patha
(circumambulatory path) is a unique
feature of this site.

4.  The site includes motif of a woman
surrounded by lotuses and elephants,
identified as Goddess Gajalakshmi by
some historians.

How many of the above statements are
correct?

(a) Only one

(b) Only two

(c) Only three

(d) All four
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60. “¥e Ufqeifas s WRE aregEen R ST § W SHE-E/8 Hed wE B2
A Ws % fAsm w1 uE s (a) e 1 3R 2
TH RS g1 UE EREM oo’ § o+ Th () a1 3R 3
9 WiE & %5 W ofaftyd ® 3R 98 =R @ 1,2 %R3
gt gelf a1 §Ed Sl gN WX B Wn ’
§ faqd 21 3W A # U g &1 | 64, FTEfafEd we W faem hifeTd:
AR off el S #1857 € o dftede -
geod A sifan e "ue d'Igt e fgd . .
1 78 ¥ fReEr frar em’” 1920 @ 1930 % <WH H URA H Hg
sEw et §, Frefdfan § @ few el (Left-wing) W& HHISTEE! GSAT 1
WﬁﬁTaﬂﬁﬁ?’mW%? SHI g
(a) STEMTR 1 Heher FoA-11:
(b) T He i ) e R @ gt g
LA F @wd & fafg= amdet qan gHSErd
(d) HIRR Hwd . .
L Rl % "iegH | gifed feRam
61. YA 9RAHA sfae™ & 9ed #, “ surwiient”
75 frafafad § @ fe daifaa s 22 STEw ded & Haw § frfafes 7 @
(a) TEA Wl & TG HHE-T1 TE 27
(b) g o9 & AR, St g & @ 5 (a) ®eF-1 @R weA-11 <A W& ¥ @R
LRI HA-11 weF-1 & T et = @
(c) TMET TWE I AEheH (b) HeF-1 3R weA-1 S & B @R
(d) = H M g T @ F A FoR-11, -1 & fo o =men w7 &
e (c) -1 WEl & Wfeh HeF-11 TTerd @
62. dfradg =Sl &1 IT=, oed ardd (d) FeA-1 T T AT FeA-1 T B
T Md ‘o] Aae’ 1 HEeH 3ead
ﬁ-lc:lcn 2, mﬁr«r@qﬁ@mm 65. T T F Heel #, frefated wert
T 9 Uf| en? R o =i
(a) =i MR TR B 1. % U Therd I 9l €, el U e,
(b) UM SR Thel wegfd | g gffreRnd fam 2
(c) Tz fasie 2. dAfmver gm Waa ‘efwra g
(d) w==rt fosre e g 9, s fafatee
63. TEEEH & ¢ Uit & w3y H, freafafaa yeq e el SR qede W fadfe

© Copyright: AEXT IAS

Fol W faEr wifem:

1. #fR o o wEr o = qg-ay
e foao & off qfe €

2. I8 TH ‘ThRH FgH' (Monolithic
rock-cut) ! SHEHT T T Hi 2

3. UE A S @ T gEeRr i oot
T RfGgadq fgda & oA &
SN e e

(26 - A)

M Ll B
ST 9 ¥ SE-G/8 weH FEl 2/R7?
(a) Had 1
(b) Had 2
(c) 1 3R 2 <+
(d Fd1, T2
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“This historical monument presents the
synthesis of Persian architecture and
Indian traditions. The monument features a
double dome design and is in the centre of
a large garden, laid out in charbagh (four-
fold) style, with pools joined by channels.
The site is often called the ‘dormitory of
the Mughals’. From here in 1857 A.D;
Lieutenant Hudson had captured the last

Mughal emperor Bahadur Shah II.”

Which of the following monument has been
described in the above passage?

(a) Tomb of Jahangir

(b) Taj Mahal

(c) Humayun’s Tomb

(d) Fatehpur Sikri

With reference to the history of ancient

India, the term “Agrahaarika” referred to:

(a) Chief of palace guards

(b) Followers of Buddhism who strived
for truth

(c) Superintendent of the royal kitchen

(d) Official who looked after the land
given in charity

Bankim Chandra Chatterjee’s novel that
first featured Indian National song “Vande
Mataram™ was inspired by which of the
following historical events?

(a) Chittagong armoury raid

(b) Tebhaga movement

(c) Paika rebellion

(d) Sanyasi revolt

With reference to the Shore temple of

Mahabalipuram, consider the following

statements:

1. The temple houses shrines of Lord
Shiva as well as Lord Vishnu

2. It is a monolithic rock-cut temple.

3. Itis believed to be built during the rule

of Pallavan King Narasimhavarman II.

64.

65.

(27 - A)

Which of the statements given above is/are
correct?

(a) 1and2only

(b) 2 and 3 only

(c) 1and3 only

(d 1,2and3

Consider the following statements:
Statement-I :

Several left-wing and socialist organizations
emerged in india in 1920s and 1930s

Statement-I1 :

Young persons influenced by Gandhian
ideology of Sarvodaya organized
themselves through various left-wing and
socialist groups.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-
Il are correct and Statement-II is
not the correct explanation for
Statement-I

(c) Statement-I is correct but Statement-II
is incorrect

(d) Statement-I is incorrect but Statement-
I is correct

With reference to the Bharatnatyam dance,

consider the following statements:

1. Itisanekaharya dance style where one
dancer takes on many roles in a single
performance.

2. Nandikeshwara’s Abhinaya Darpana
provides insights into the techniques
and grammar of body movements in
Bharatantyam.

Which of the statements given above is/are
correct?

(a) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2
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66. U 3R HeAwEiH WRd & el & 3. 7™
g o, freafafes g ® faar #ifsu: 4. ifa
et YT FoT/STARRT 1= ST 7T F2 1 FEAT F GET IW AT
1. sren Reee g 30 g7 fee (@) 3-4-2-1
T STYERY T (b) 4-3-2-1
2. IO framE TS | BN (©) 3-4-1-2
. (d) 4-3-1-2
gieiert st forsm
B el e e 69. HAIHESH CIRIERE SRR
’ (Stratospheric ~ Atmospheric  Injection-
| g SAI),‘{%@"RI;\qﬁT T ¥ Froe @ fom uw
. . PESIER] q-sififaet  fafer (Solar
I T+ e wE g & Geoengineering Method) 81 38 dehieh i
() HIA TH weg Ffafed § 9 fva wiefas s &
(b) wHed q FHTEl 1 Thel/FIHT (Mimic) w1 €2
(c) | < (a) oTodeESE el et el e
) ®E T gfskA1’ (Evaporative cooling process)
(b) oot A e fE, SR Sa w5
67. Trefefga s  fomm wife: 9 g & ety i atsfaa sl €
(c) TEH TSt TR g SSAT 1 TER
FAL: (d) g SaaqE faehiel & gy vider
15 3TTE, 1947 © 26 S, 1950 Toh HRA EAL]
T A (SifufEa wg) o9 @ ol 70. ¥ =t (Methane reduction) W Tferan
Afvas faer-fomet = e o, ffafed
HHA-1I: Feol W R R
ARd TR A 15 ST, 1947 9 26 SR, L. jj‘[m %ﬁfﬁlfg) gg
1950 w ARG R Afef=d, 1935 & ’qu?ﬁ_q” ! i"qqgﬁ R - %’l
T % TEd b fAr e 2. HOH IESH ¥ oA &R (Ground-
SwiE : :  feAferfea o level)WWW%ﬁT%I
o w:ﬁ%j%m’ﬁﬁ’ i 3. 9Rd ¥A@ ¥ H AMgSd  Hied
W T ‘ . IS H FHH FH ® fou dfvaw
(a) FoA-1 SR FHeA-11 S W & qen oA gfda (Global methane pledge)
FHUA-11 FUF-1 & foIu w& =are 2 oy gem 2l
(b) FeA-1 3R FHeE-11 < & & aen ST 9 ¥ SE-G/8 weA FEl 2/R7?
FUA-11, HeA-1 B fau wgt =men (a) HaA | 3R 2
T 3 (b) Had 2 o
(c) -1 TEl €, Al her-11 Tera 21 g ?ETS%T \ 3
(d) <hIA-1 TTeid ?, wfe HeE-11 T 2| ’
N ~ | 71. T=TE (Ambergris) JodaM Y] IR 2,
68. T« wWUNA & fEfafea yemats s

© Copyright: AEXT IAS

F ARE FH (I ¥ dEl) H Fafed

HIfSTT:
1. faw
2. i

(28 - A)

g syam 5 fmfo § fean S ®,
Tl R § g ST BT 69 21 T
frefefaa o @ #H-9 9ot 9 gafud 82
(a) HE g1 (Musk Deer)

(b) wH =
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With reference to the inscriptions of Ancient
and Medieval India, consider the following
pairs:

Inscription Contains information
about
1. Ayodhya Ashwamedha
inscription  sacrifices performed by

Pushyamitra Shunga
2. Uttaramerur Conquest of Sri Lanka by
inscription  Rajaraja Chola
3. Rummindei
inscription

Exemption for Lumbini
from paying bali

How many of the above pairs are correctly
matched?

(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following statements:
Statement-1:

India continued to remain a dominion
between 15th August 1947 and 26th January
1950.

Statement-I1:

Government of India functioned under
the provisions of Government of India
Act, 1935 from 15th August 1947 to 26th
January 1950.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is not the
correct explanation for Statement-I

(c) Statement-I is correct but Statement-II
is incorrect

(d) Statement-I is incorrect but Statement-
IT is correct

Arrange the following administrative units
of Gupta empire from smallest to largest:

1.  Vishaya

2. Bhukti

69.

70.

71.

(29 - A)

3. Gram
4.  Vithi

Select the correct answer using the code
given below:

(a) 3-4-2-1
(b) 4-3-2-1
(c) 3-4-1-2
(d) 4-3-1-2
Stratospheric  Aerosol Injection is a

proposed Solar geoengineering method to

combat global warming. This technique

aims to mimic the effects of which of the

following natural phenomena?

(a) Evaporative cooling process of
transpiring plants

(b) Formation of rain clouds, where water
droplets reflect sunlight

(c) Heat dispersion by deep ocean currents

(d) Cooling effect following large volcanic
eruptions

In the context of recent global discussions on
methane reduction, consider the following
statements:

1. Methane has a shorter atmospheric
life than Carbon dioxide, but a higher
Global warming potential.

2. Methane emissions lead to ground-
level ozone pollution.

3. India has
Global methane pledge to reduce
anthropogenic methane emissions.

recently joined the

Which of the statements given above is/are

correct?
(a) 1and2only
(b) 2 only

(c) 1 and3 only
(d) 1,2 and 3 only

Ambergris is a valuable animal product
used in making perfumes, but its possession
is illegal in India. It is associated with which
of the following animals?

(a) Musk Deer

(b) Sperm whale
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(c) Hifer

(d) =ffew

Sg-3ete & Hed § frefafEd wu W

IEEECAIE LS

1. Sg-sw geaerdr s €, o
A : AT dU hIEh - a@ ad
B 2l

2. TEWU S-Sk HIEhREST e
qeIl Hhash & WA Wasial (Symbiotic)
Tee giar

ST § 9 HHE-A/8 FU T /R0
(a) Had 1

(b) ®ad 2

(c) 1 3R 2 Ml

(d a1, 782

IRd & ®P T B oo & ey

3T9eRd  3TEfTeh WIWUl (Persistent arsenic

contamination) & ®a¥ o, fr=ifafea wemt

T foreEm it

1. wrEen Gered ad fagd €99, -5
¥ o % wefhs o )

2. T Wikfde €9 ¥ Ag W U
S 9T a2

ST § 9 HHE-A/8 HU T /R

(a) ®ad 1

(b) ®ad 2

(c) 1 3R 2

(d I, T2

aRd B Tt gl & ged °, frfafea

TR foemr Hifsm:

1. U gsia 9I€ i STEeTdl 9IRd &
JEFE F B

2. U are GO UifEeRiul Skl ed
grStg (HReon)  erfufrem, 1972 &
ded feen T

3. i@ ugww e aE w1 Ted
(YIS Y™ SR R
stfafm, 1974 & ded fehan T 2l

ST 4 9 forad wum g 2782
(a) A Th
(b) Had =

75.

76.

77.

(30 — A)

(c) |t d

(d) = &l

qiRferfaeht-HagTeiiar &= (ESZs) & dgH

T, frafafea soAl w faar wifsmw:

1. uiRfrfaent-gagasiar &= sl gaieRo
(deeqor)  srfufem, 1986 &  @d
sAfergfaa fean w21

2. wRferfent-Hogaeia & T et
q IS ATIRT F STEE &7 ¥,
S weemr W fave =m fiu sH &t
AT B

STE 4 ¥ SE-G/8 weH TEl 2R
(a) Had 1

(b) Had 2

(c) 1 3R 2 g

(d a1, T2

R 1 feurer & foviy ®9 9 feuwdiea
(Tifye) s faewie @e & ufa gu9g @

T HIA § ANEH |H ATl Had Heqol

e TefatEad § 9 shia-91 872

(a) Tem &l (Glaciers) & fooe 9 oW
WAt giel 1 fmior g 2

(b) e T W TR | g stfeera
S 8 @ 2l

(c) HH FEHACHF TSl dlel STERI
e (Bedrock dams) @1 J&Td|

(d) o ArgT auf gfeey (Yed) gl
A AYETE 1 FIfed el Bl

AT OR TMSEEH % HEeyie fagid

‘Tared 1000' wrifa #, frefafea & @

- e §?

. | S | 1000 3RE ST Sfer @
e ST we

2. OB Fell HIEM 1 ITERT H 1000
faferam @l 9 o1 789 Y]H HE

3. 1000 TATENE TR Sl erear st Tl

4. wfad 1000 fafer =71 CO, & afvew
YR IS 1 I

T fRw U wEl w1 IT W WE SW
ERLE

(a) wae 1 3R 2

(b) wad 2, 3 3N 4
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(c) Pangolin
(d) Dolphin

Consider the following statements with

regard to biofertilizers:

1.  Bio-fertilizers are microbial products
that generally contain elements like
nitrogen and phosphorus.

2. Mycorrhiza, an important bio fertilizer,
is a symbiotic association between
algae and fungi.

Which of the statements given above is/are
correct?

(a) 1only

(b) 2only

(c) Both1 and2

(d) Neither 1 nor 2

Consider the following  statements

with regard to the persistent arsenic

contamination of groundwater in certain
states of India:

1. Coal-fired thermal power plants
are the primary source of arsenic in
groundwater.

2.  Arsenic is a naturally occurring
element found in rocks.

Which of the statements given above is/are
correct?

(a) 1only

(b) 2only

(c) Both 1 and2

(d) Neither 1 nor 2

With reference to the environmental
organizations in India, consider the
following:

1. National Board for Wildlife is chaired
by the Prime Minister of India.

2. National Tiger Conservation Authority
has been constituted under Wildlife
(Protection) Act, 1972.

3. Central Pollution Control Board
has been constituted under Water
(Prevention and Control of Pollution)
Act, 1974.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

75.

76.

77.

(31 -A)

(c) All three
(d) None

With reference to the Eco - sensitive zones
(ESZs), consider the following statements:
1. ESZs are notified wunder the
Environment (Protection) Act, 1986.
2. ESZs are areas inside National Parks
or Wildlife sanctuaries which require
special attention for their conservation

Which of the statements given above is/are

correct?
(a) 1 only
(b) 2 only

(c) Both1and?2
(d) Neither 1 nor 2

India’s Himalayan region is particularly
vulnerable to Glacial lake outburst floods.

Which ofthe following is the most significant

factor contributing to this vulnerability?

(a) Retreating glaciers forming numerous
proglacial lakes

(b) Widespread deforestation leading to
slope instability

(c) Predominance of bedrock dams with
low structural integrity

(d) Intense monsoon rainfall patterns
overwhelming natural drainage

‘Towards 1000’ strategy, a guiding principle

of International Solar Alliance, includes

which of the following?

1. Mobilizing USD 1,000 billion of
investments in solar energy

2. Providing energy access to 1,000
million people using clean energy
solution

3. Installation of 1,000 GW of solar
energy capacity

4. Mitigate global solar emissions of
1,000 million tonnes of CO, every
year.

Select the correct answer using the code
given below:

(@) 1and2only

(b) 2,3 and4 only
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(c) @had 1,2 3R 3

(d 1,2,3 3R 4

frafafes & @ =@-w gieda & ®

“gwrarEe (Ecocide)” 98 w1 HaraH auid

Tl B2

(a) Ylooa wFeE SRfaR! gR ghfas
EpIctUlCa B EEIN|

(b) M T garwm # favel wWEA ®
TART &1 =

(c) T=osia  SHEe foehle & &R0
Tiikfeerfaent @ 1 qaq

(d) el Tt goIfd 1 3UH Uhfdh
qHfaE | fagqa 8

FHEd G\ FEESE 3 (CBAM) & §gd

T, frafafed Foi m foar wifea:

1. T8 M A wEF AR & TEE W
Ted STRTU Y FHET IS Sl A
FH AW FIE w oSeH & foau
Tiefed w3 =g fewme fRan T

2. I8 IUNHI SRS W A Fl HH HA
% fIr TR SAORl w1 BEH Hed
Fed Wl W AR e 2

3. Toshreiier <ui 61 @ @ TR 97 erfea
MR e’ (Unfair trade barrier) €,
S 3hT AefEEensdl W ufded g
STl € SR S ekt § aen s
Tl B

S 4 9 fordd wum g 2/

(a) “hed TH

(b) wad

(c) 9t T

(d) = T

frefafed wo W foar sifsa:

1. TURME IR 93 ®9 4 Had To0d A
o e S 2

2. R UREE IR & AW (A ® W)
YIT=Id: $Ich ST Teh! THET hi o
H o5 9 vae e 2l

81.

82.

83.

(32 - A)

3. T & H dig feu U seeeEe fam
Hed TAEE % qed 9 TR & IR
1 witgfad fean w2

Sud o § frad wed wEl 872
(a) o TH
(b) Had J
(c) @t I
(d) =i &

B & H 9Rd TR A Sifeh & &0 &
fou #¢ 3 fou B 5@ ded o frefafe
HY W fa=r Hifeu:

1. wft =ffera =a B

2. wf =ffewd wHed B

3. o =ffewd TEH B B

ST § 9 SE-E/8 wY wE R

(a) wad | 3R 2

(b) Had 2

(c) a3

(d) eet 2 3R 3

3@ & H gEal § ® U ug e ®9
‘fofiaaX’ (Bidriware) &1 fr=fafaa & |
fore =9 @ et Gehder (GI) 31 We €72
(a) WERTE

(b) T

(c) &

(d) HAleH

ORd & fAfaied Ufqeids TRl |
fo=m =ifsa:

Rl

T HfeT, Homen

FETR AR

TH 1 91|

qIE WU, A"

ST § § fhad adam ¥ e | ARdE
g1 A W 9T MY B2

(a) wHad A

(b) HIA TR

S e e
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(¢) 1,2and3 only
(d 1,2,3and 4

Which of the following best describes the

term “Ecocide” often seen in the news?

(a) Destruction of the natural environment
by deliberate human action.

(b) Practice of using toxic chemicals in
agriculture and plantation

(c) Collapse of ecosystem due to wildlife
population explosion

(d) Extinction of an endemic species from
its original habitat.

Consider the following statements about
the Carbon Border Adjustment Mechanism
(CBAM):

1. CBAM is

countries to increase their efforts in

designed to encourage

reducing carbon emissions by putting
a price on carbon content of imports.
2. It applies only to raw materials,
excluding  finished products, to
minimize the impact on consumer
goods.
3. Developing countries argue that
CBAM is an unfair trade barrier
affects

their economies and hinders their

that disproportionately

development.

How many of the statements given above is/
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following statements:

1. Asiatic lions are found in wild only in
the state of Gujarat.

2. Male Asiatic lions usually have a
shorter and thinner mane compared to
their African counterparts.

81.

82.

83.

(33 - A)

3. All lions have been covered under the
recently launched International Big
Cats Alliance.

How many of the statements given above
are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Recently, the Government of India has
taken various measures for the conservation
of Dolphins. In this context, consider the
following statements:

1. All Dolphins are Whales.

2. All Dolphins are Mammals

3. All Dolphins are Blinds.

Which of the statements given above is/are
correct?

(@) 1and2only

(b) 2 only

(c) 3only

(d) 2and3 only

Bidriware, a metal art form recently in the
news, has a Geographical Indication (GI)
tag from which of the following states?

(a) Maharashtra

(b) Telangana

(¢) Kerala

(d) Karnataka

Consider the historical

monuments of India:

following

Hampi

Sun Temple, Konark
Brihadeshwara temple
Rani ki Vav

Ajanta caves

Dhamekh Stupa, Sarnath

SN

How many of the above are depicted
on Indian currency notes currently in
circulation?

(a) Only three

(b) Only four
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(c) haa dr=

(d) Had BT

93 9Rd o1 & g o, freAfafea s w

fo=m =ifeu:

1. SHH i g 1Jﬁ'téﬁ'f'\fl%'ﬁ(Magnetic
levitation technology) & RU &&®
ol T R

2. I8 TRy ®9 9 fowfad ©d arra
faeen 9 gofem 2l

3. UE dheM & fau Sea ol wEed
JUTt & 1Y Toeh oS arell forrerd
TP oS T YA Il 2

4, I% WU % FEAN ¥ feumed w T
IR 1 gU9 9 e wie W 2

Stdh 9 fhdd wom el R
(a) A Th
(b) HaaA I
(c) Had o=
(d) =+t =R

gRER & fovs Wgw U AfqEEA

(UNCAC) & 43+ o, fr=fafad seml W

foar +ifsT:

1. 78 THAE &M €9 H aEHRR
geivdifes yeER-fage st
(Anti-corruption Convention) 2

2. TH% @A WSH M W TSI
foa-qo0 4 YRR w1 qHEE S
1 SEYTRdl Bl 2l

3. 9Rd THeR! el B

Iwte o 9 SA-9 %ud el ®?

(a) eel 1 3R 2

(b) e 2 3R 3

(c) hea 1 3R 3

d 1,2 ¥R3

ARd &R §R IR¥ & T FAfafeq
et W faEm wife:

1. 3Td =R &war fmior Js

2. Tasd A

3. Yug-feara (PM-DevINE) Al
Sudw H A farat Arsnet w1 Sta-fafaea
&I T Y& Yo M2

(a) A Th

(b) Haa

87.

88.

89.

(34 -A)

(c) @t I
(d) = &

fr=fafEd o ) foar sifsu:

1. 9Rd & 91 Tl W e S el
THHE ST 29 RIER 2

2.  9RA % g YarR T, AU STeEe
R, TS, AT, THeiRe 3R Hemerd
SO % WY A W W e

3. IOuM 9RG-FER EW s HiEied
Trerg G & SEr T T 2

4, AR & Afafh 9Ra 6t Gusl S
Ao, AR SR geRiE & @y
G gl

S 4 9 fohd wum w9t 282

(a) “hed TH

(b) I A

(c) Had dH

(d) I+t =R

FeUMel W getal 2| Frefatead § 9 sia-a

Tt sdniifers 3fte @ —gAan e 8?2

(a) HEfEA - TAM - wER e -
IREQLNES]

(b) dRETE - AR - @Ry - ad

(c) it fient- S-S ifafer Rufsr

(d) FO - TEEE - T AR HIHG
g - 2l

e 2023 dAT 2024 H oTAft @EH qen

TR Y@ A & HR0 70 H AHAT Gohe

1 feofa @ @1 39 9% B ' SurdshTeiA

@ gerFdl’ &1 g9d qun faawer &

F1 wafgs afeRy #19-8 ggw TR

G349 &l B2

(a) WHEE AW & FH9F & AU G
T2 HEEd (OCHA)

(b) IO & fau 9w T2 S=Eg®
(UNHCR)
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(c) Only five
(d) Only six

Consider the following statements regarding

Vande Bharat train:

1. It has superior energy efficiency due to
magnetic levitation technology.

2. It is equipped with indigenously
developed Anti Viral System.

3. TtusesLight-weight Lithium Chemistry
with advanced Battery
Management System for backup.

4. It is India’s first semi high speed rail

designed in collaboration with Japan.

Batteries

How many of the above statements is/are
correct?

(a) Only one

(b) Only two

(¢) Only three

(d) All four

Consider the following statements with

regard to United Nations

against Corruption (UNCAC):

1. It is the only legally binding universal
anti-corruption instrument.

2. It requires its parties to address
corruption in political finance.

3. Indiais a signatory to UNCAC.

Convention

Which of the statements given above is/are
correct?

(a) 1and?2only

(b) 2and 3 only

(¢) 1and3 only

(d) 1,2 and3 only

Consider the following schemes launched

by Government of India:

1.  Amrit Dharohar Capacity Building
Scheme

2. MISHTI scheme

3. PM-DevINE Scheme

How many of the above schemes will have a
direct impact on biodiversity conservation?
(a) Only one
(b) Only two

87.

88.

89.

(35 - A)

(c) All three
(d) None

Consider the following statements:

1. Only ASEAN country that shares a
land boundary with India is Myanmar.

2. Five northeastern states of India,

Pradesh,

Manipur, Mizoram, and Meghalaya,

Arunachal Nagaland,
share boundary with Myanmar.

3.  Present India-Myanmar border has
been demarcated as per the Treaty of
Yandabo.

4. Along with Myanmar, India shares
its maritime borders with Maldives,
Mauritius, and Indonesia.

How many of the statements given above is/
are correct?

(a) Onlyone

(b) Only two

(¢) Only three

(d) All four

A cruise ship itinerary lists stops in various

Caribbean ports. Which of the following

routes is geographically least practical?

(a) Colombia - Panama - Costa Rica -
Nicaragua

(b) Barbados - Martinique - Guadeloupe -
Haiti

(c) Belize - Puerto Rico - Jamaica -
Dominican Republic

(d) Cuba - The Bahamas - Turks and
Caicos Islands - Haiti

In 2023 & 2024, humanitarian crisis are
unfolding in countries due to experiencing
both internal conflict and severe droughts.
Which UN organization would have
the primary mandate to coordinate and
distribute emergency food aid in this crisis?
(a) Office for the Coordination of
Humanitarian Affairs (OCHA)
(b) United Nations High Commissioner
for Refugees (UNHCR)
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(c) @ Td FfF A (FAO) D. dfvas Sifgw 4. fova difges o
(d) fava @m@ wEwA (WFP) frard TS
90. TTA & H 9Rd & YAIR &F & U gE * he
T S A @ way o Frefatad so ()4A ]13 g ]33
a
KRR o ® 2 3 4 1
1. TUH 3T¥F YA WA § GREE &S ) 4 1 3 9
I FgET 3 T @ 3 2 4 1
2. s‘ér RIS E MCRE DI EeDE %ﬁqﬂﬁw 03. ww Werqdl dw R WRW @ <fm-gdl
FATETT SR 47 T Her € qe W orafeerd 31 TP O FR W TR
ST § W -G/ U HEl 272 H WE W A IR § G FH 2
(a) e 1 ThH el fafaeamel 2, foae sferor &
(b) e 2 Tre HEEee | W aRigwd qon s A
(c) 1 ¥R 23 SySTE qfi SR TEe qEerErE e @
(d a1, 782 Y A WS I €1 SHhl qel HH W
91. Iei-Ufaftrs TRFITHR Thuas R FEfE feorq et gesft 0 o w1 Fre g 2
(IPEF) & g o, freifefod wodl m IR HIA-9 7 HT FuiA A S @1 72
fo=m =ifeu: (a)
1. 9Rd SAUR WY & Afaw g9 (b) FewEe
it wfefer & T 2 (©)
2. weft FoTe W= W TH e B (d) e
T R T 3 94. YUl SR H TWRU I WETHSA Hel
(@) Fo 1 R (Epictale)ﬁ@mﬁﬁmaﬁw
za%aaz e 21 3@ wed o wwEer ok e <
E;lﬁzﬁ 4 B ol F Febafa g w
C
foar sifaa:
(d a1, T2 s o
TMHMIAUT ohl
92. -1 HI -1 ¥ FAfaa =X == & . e
ﬁmm@ﬁaﬁwwww 1. oide : [ (Ramakien)
Telt-1 . S 2. ZemfEn : THE I
(fede A );ﬁjé . 3. fegor eiEr ;AW SeEl (Yama
A d | ,W HET[EI;'ET Zatdaw)
B. dftew fadm 2. fava ofis w (a) Fa 1 SR 2
Teopgar Tode (b) FIA 2 IR 3
C. <iffe sEHFAl 3. WY@ T faem (c) Had 1 iR 3
BEEE EIRER (d 1,2 3R3
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90.

91

92.

(c) Food and Agriculture Organization
(FAO)
(d) World Food Programme (WFP)

Consider the following statements with

respect to recently launched UNNATI

scheme for North-East region of India:

1. It aims to boost horticulture sector in
North-eastern states.

2. The nodal ministry for implementation
is Ministry of Development of North
Eastern Region.

Which of the statements given above is/are
correct:

(a) 1only

(b) 2only

(c) Both1and?2

(d) Neither 1 nor 2

With respect to the Indo-Pacific Economic

Framework for Prosperity (IPEF), consider

the following statements:

1. India has joined all the pillars of IPEF
except the Trade pillar.

2. All Quad countries are part of IPEF.

Which of the statements given above is/are
correct:

(a) 1only

(b) 2only

(c) Both1and?2

(d) Neither 1 nor 2

Match List I with List II and select the
correct answer from the codes given below
the lists:

List I List I1

(Report / Index) (Organization
publishing the
report)

A. Global 1. International

Innovation Index

B. Global Financial
Stability Report

C. Gender
Inequality Index

© Copyright: AEXT IAS

monetary fund

2. World Economic
Forum

3. United Nations
Development
program

(37 - A)

93.

94.

D. Global risks 4. World Intellectual

report Property
Organization
Code:
A B cC D
(a) 4 1 2 3
(b)) 2 3 4 1
(c) 4 1 3 2
(d 3 2 4 1

This Middle Eastern country is located on
the south-eastern shore of the Mediterranean
Sea. At its southern tip lies the Gulf of
Agaba, which connects it to the Red Sea. It
has a diverse geography that includes desert
landscapes in the south, courtesy of the
Negev Desert, and fertile lands in the north
and coastal plains along its Mediterranean
coast. On the easter border, lies the water
body which has lowest point on the
earth.

Which country is being described above?

(a) Egypt
(b) Israel
(c) Lebanon
(d) Jordan

Throughout history, the epic tale of the
Ramayana has traversed borders and

cultures. In this context, consider the
following pairs of different adaptations of

Ramayana and the associated country:

Adaptations of Associated Country
Ramayana
1. Thailand Ramakien

2. Indonesia
3. South Korea

Ramayana Kakawin
Yama Zatdaw

Which of the pairs given above is/are
correct?

(a) 1and2only

(b) 2 and 3 only

(¢) 1and3 only

(d 1,2and3
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gfeal & = R MU H &1 @ w1
Hal IW Fu:
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( nfearst (Srgeahat )
3t/ fegie )
A. U g 1. fag 3R #=
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(a) ol gEeR
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9s.

96.

97.

© Copyright: AEXT IAS

With reference to the Konark Sun Temple,

consider the following statements:

1. The temple was built under the
patronage of Gajapati rulers.

2. Twelve pairs of wheels sculpted on
high base of temple represents the
chariot wheels of the Sun God.

3. Its architectural style inspired the
Martand sun temple in Kashmir.

How many of the above statements are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None
Swami  Vivekananda and Dayanand
Saraswati were both influential Hindu

reformers in the 19th century, but their

approach differed. Which of the following

best reflects this difference?

(a) Swami Vivekananda emphasized the
importance of Bhakti (devotion) while
Dayanand Saraswati focused on Karma
(action).

(b) Swami Vivekananda advocated for

social reform movements while
Dayanand  Saraswati  prioritized
spiritual practices.

(c) Vivekananda aimed to  uplift

women and the downtrodden, while
Dayanand Saraswati advocated for
the preservation of traditional social
structures.

(d) Vivekananda believed idol worship
could be a pathway to understanding
the divine, while Dayanand Saraswati
rejected it as contrary to Vedic
teachings.

Match List I with List I and select the
correct answer from the codes given below
the lists:

List I List I1

(Tribal movement (Associated leader)

/ revolt)

A. Santhal Hul 1. Sido and Kanhu

B. Rampa 2. Bakshi Jagabandhu
Rebellion

98.

99.

100.

(39 - A)

C. Paika rebellion 3. Alluri Sitaram Raju

D. Ulgulan 4. Birsa Munda
Code:
A B C D
(a 1 2 3 4
(b) 4 3 2 1
(c) 4 2 3 1
d 1 3 2 4
With reference to the Vijayanagara

Kingdom, the term ‘Mahanavami dibba’

refers to:

(a) Victory procession of King after the
wars/ battles

(b) Ritual of Human Sacrifice performed
in the annual fair of God Vishnu.

(¢) A massive platform where the Kings
sat and watched processions pass by.

(d) Bards/poets
composed poems in praise of King and

in Royal court who

his conquests.

Who among the following rulers of

early medieval times adopted the title of

Adivaraha owing to his devotion towards

Lord Vishnu?

(a) Dhruva of Rashtrakuta dynasty

(b) Devapala of Pala dynasty

(c) Mihir Bhoja of Gurjara Pratihara
dynasty

(d) Pulakeshin IT of Chalukyan dynasty

Recently, a 500-yr-old manuscript of
Rigveda handwritten in Sharada script was
presented in G-20 summit. Who among
the following played a significant role in
retrieving this manuscript?

(a) George Buhler

(b) Charles Wilkins

(¢) Alexander Cunningham

(d) William Jones
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